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QUESTION 1

Which CREATE DATABASE attributes are required? 

A. The database name. 

B. The database name and the redo log file name. 

C. The database name and the table space name. 

D. The database name and the temporary table space name. 

Correct Answer: A 

 

QUESTION 2

All database users are members of what predefined database group, which governs the basic access permissions that
are granted to the system? 

A. GUEST 

B. USERS 

C. PUBLIC 

D. GLOBAL 

Correct Answer: C 

 

QUESTION 3

Click on the exhibit. 
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Given the following query: SELECT * FROM TableA, TableB WHERE TableA.c_custkey = TableB.o_custkey; What type
of join processing will occur when the query is executed? 

A. Collocation hash join processing 

B. Distributed hash join processing 

C. Broadcast sort merge join processing 

D. Replication sort merge join processing 

Correct Answer: A 

 

QUESTION 4

Which statement is NOT true? 

A. nzbackup backs up selected tables. 

B. nzbackup backs up to a file system destination. 

C. nzbackup backs up to a Veritas NetBackup destination. 

D. nzbackup backs up to a IBM Tivoli Storage Manager destination. 

Correct Answer: A 
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QUESTION 5

What is the only predefined database user, which is able to access all objects and perform all tasks against the
database? 

A. root 

B. public 

C. admin 

D. system 

Correct Answer: C 
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